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Q.No: 1 Mulching is a method of

2426883
AfedT I T fAf 31
Water Conservation
A
S IR&fr
Cultivation
B
@t
Soil Conservation
C
T TX&0T
Land Conservation
D

i ER&T
Correct Ans : C

Subject : General Knowledge

Q.No: 2 Shukrayaan mission of India is related to which planet?

2427384
YR BT LHAH =M 59 U5 3 wafig 32
Mercury
A
qY
Saturn
B
oy
Venus
C
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Mars

T
Correct Ans : C

Subject : General Knowledge

Q.No: 3 Stand-Up India was launched by the Government of India on 5 April 2016 to promote entrepreneurship among
2427396 znd SC & ST communities.

-7 33T 1 YR TPR gRI 5 38 2016 Bl 3R SC 3R ST YHar & dia IA=iiadr &I ggrar - & e i fasar
oIl

Women

Hfgan

Students

|

Engineers

geitferaet

Unemployed

RISAR

Correct Ans : A

Subject : General Knowledge

Q.No: 4  Where was the first e World Social Forum (WSF) meeting was organised in 20017
2428882

2001 ¥ Ugel IS TN BRA (WSF) I 565 Bl maiford &t T8 &ft?

Israel
A

ESNEE]

Paris
B

s

Brazil
(o

EICIGE

D Canada
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PHTST
Correct Ans : C

Subject : General Knowledge

Q.No: 5 was a five-year plan of forced agricultural collectivization and rural industrialization that was instituted by the
2428883 Chinese Communist Party in 1958.

_ S yds HiY IHRHieRor R anfivr sieniiexur ot daadfa e ot R 1958 # it srgfaee uref g waifie famar mar

Grow Leap Forward

A
Tt A9 BRas
Green Leap Forward
B
= v BRas
Great Leap Forward
C
Je iy vRRas
Grievance Leap Forward
D

Rrea=t <t wives

Correct Ans : C

Subject : General Knowledge

Q.No: 6  The Prime Minister of Bangladesh ‘Sheikh Hasina’ belongs to which political party?
2428937

TG BT g T W g B9 Ierifie aa ¥ Held &2

Bangladesh Nationalist Party

A
FiveTeR ARHfeRE uref
Jatiya Party
B
STt uréf
Awami League
C
SrarHt o
Bikalpa Dhara Bangladesh
D

foweur urT TiETe™

Correct Ans : C

Subject : General Knowledge
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Q.No: 7  The Caucasus Mountains is a mountain range at the intersection of Europe and which continent?
2429069

FIHIY Udd TRT R Y 7eElu & IRE R Rd 0 udd gae 82

Asia
A
R
Africa
B
Cpdcal
North America
C
It SRt
Australia
D
SR fRraT

Correct Ans : A

Subject : General Knowledge

Q.No: 8  The Murray River is located in which country?

2429070
™ T forw 3w A Ry 82
Russia

A
g

United States

B
T ST SARPT
Australia
C
sifegferar
Peru
D
=

Correct Ans : C

Subject : General Knowledge

Q.No: 9  When was the partition of India announced?
2432130
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YR AU P19 e Pt TS?

30 June 1947

30 S 1947

13 June 1947

13 S 1947

23 June 1947

23 7 1947

3 June 1947

3 91 1947
Correct Ans : D

Subject : General Knowledge

Q.No: 10 When was the Indian Partnership Act passed?

2432155

YR URieR! g oe uikd g

1920
A

1920

1925
B

1925

1932
C

1932

1940
D

1940

Correct Ans : C

Subject : General Knowledge

Q.No: 11 The United States currently has 14 Free Trade Agreements (FTAs) with countries in force.
2434464

Tgad T ARG & adar | 3 % Y 14 Yo AR GHA (THEY) AR 5|
20

20
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30
B

30

40
o

40

50
D

50

Correct Ans : A

Subject : General Knowledge

Q.No: 12 The majority of asteroids are found between the orbits of which of the following two planets?
2437247

frofafed & ¥ 57 @ u6! 31 wanslt & < ey eEug ue o 82

Mars and Jupiter

A
e 3R gewfa
Jupiter and Saturn
B
gewfa 3R =+
Earth and Mars
Cc
gt 3R T
Saturn and Uranus
D

o 3R 9

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Sopana Sangeetham is associated with which of the following states?
2440764

T/ Wiae e § 9 e Tou 3 el 82

Telangana
A

GEUIE

Karnataka
B

FHlcH

C Tamil Nadu
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aftraTg

Kerala

Hd

Correct Ans : D

Subject : General Knowledge

Q.No: 14 Narendra Krishna Karmarkar was born in

2441269
TRE PO HIRBBISTH__ Hgama
Gwalior
A
TR
Bhopal
B
wure
Jabalpur
C
SR
Indore
D
R

Correct Ans : A

Subject : General Knowledge

Q.No: 15 Orchha is situated on the bank of which river?

2441413
3R fpg 7 & de W fyd g2
Chambal
A
ECG)
Narmada
B
e
Ken
C
¥

D Betwa
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dar

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Out of the following districts of Madhya Pradesh, which one is in the southernmost position?
2441479

[ YW & Fyfefed e § ¥ o 91 999 gl =M w82

Shajapur
A

RATSITYR

Dewas
B

g

Khandwa
C

wedr

Burhanpur
D

REFAR

Correct Ans : D

Subject : General Knowledge

Q.No: 17 Who among the following approved the establishment of Nagpur High Court, for the Central Provinces and Berar?
2441718

fuforiad & ¥ f5aa geg Uid iR RR F U TR 3= Aarad &1 RO S JoRdt 2

King Emperor, George the fifth

A
IS |1, SISl g9
King Emperor, George the second
B
T T, SiTs g
Queen Elizabeth, the second
C
TERT themay,
Queen Elizabeth, the first
D

BRI TRISEY, yudq
Correct Ans : A

Subject : General Knowledge
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Q.No: 18 Burhanpur is a major, growing district in India.
2441796
REMR HRA BT TH TG Iaee foret 31
Apple
A
a9
Banana
B
Far
Mango
C
3H
Pineapple
D
AN

Correct Ans : B

Subject : General Knowledge

Q.No: 19 The High Courts in India were first started at

2776148
YR B I Ired) &I qad ugd T = foar Tl
Bombay, Delhi, Madras
A
aiv, fewedt, wEry
Madras and Bombay
B
A SR ara
Bombay, Madras, Calcutta
C
q, HER, Haebdl
Delhi and Calcutta
D

Reeht o waer

Correct Ans : C

Subject : General Knowledge

Q.No: 20 Power of the Supreme Court of India to decide the dispute between centre and state falls under
2776149
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5 R T & A9 fare 1 Haen s & Y WRd F gat =y Bt e & 3feRfd 3t B
Advisory jurisdiction
A
HATGPR QAU
Original jurisdiction
B
ARSI
Appellate jurisdiction
Cc
rfter-gfeR
Constitutional jurisdiction
D

Taue gafier
Correct Ans : B

Subject : General Knowledge

Q.No: 21 On the basis of origin mouth, the organism that develops mouth first and then anus are termed as-
2429846

W B IART S SMYR | 3 S S Ugat TG R R T[a1 &1 [JH™ B 8, P 8-

Protostomia

A
SergE
Bilaterally symmetrical
B
feugha wu & wafia
Deuterostomia
C
SR
Radially symmetrical
D

3y < | gufta
Correct Ans : B

Subject : General Science

Q.No: 22 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have
2429935 4 examine these two statements carefully and select the correct answer to the question from the given options.

Assertion: (A) Whales are categorised under mammals and not Pisces.

Reason: (R) they respire through lungs and have four chambered hearts.

3w fFfafad vy & 3 $yF § OFE 3 06 &) "G 3R IR & "SR F T4 § dad fhar T g
ATAHT 7 I HUA DY WAYHIGS Sig I 3 3R 3T 7TU fywedt & 9 vy &1 W6l IW A1
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3MBY: (T) B P WYY & 3icia aeffepa fpar wmar & =1 f i fdr 7
PRU: (R) T BHST T 47 B & 3R I7P g IR Heflg gid g1

(A) is true but (R)is false.

A
(A) 54 3 AP (R)TeE &1
(A) is false
B
(A) Taa ®
(R) is false.
C
(R) Terd g1
(R) is the correct explanation for (A).
D

(R) (A) & form udt wudiaor 31

Correct Ans : D

Subject : General Science

Q.No: 23 Marble cancer happens due to:

2431725
HEA IR 1 PR § B B
water vapour in air
A
g o Srerarsy
acid rain
B
3wt qui
CFC
C
Jdt.uw.
carbon dioxide
D

HTa STSIATIIZS
Correct Ans : B

Subject : General Science

Q.No: 24 Silicosis is actually a/an disease.
2434309

RifrPIR araa § T BT I

A Bone
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Nerve
B

GlECH]

Lung
C

PHS

Liver
D

KK

Correct Ans : C

Subject : General Science

Q.No: 25 The lustrous inner surface of a steel spoon acts like a:
2436413

W & T B IHHIR RS ag fHY USR 1 Bt &

plane mirror

A
gHaa gy
concave mirror
B
add giur
convex mirror
C
ERCk-EL
convex lens
D

3Iq A9
Correct Ans : B

Subject : General Science

Q.No: 26 Which of the following is NOT a halogen?
2437207

frofafed & § o gaor T8l 82

Fluorine

wRE

B Chlorine
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TN

Bromine
C

EIEic]

Tellerium
D

cafw

Correct Ans : D

Subject : General Science

Q.No: 27 Which of the following noble gas is not found in air?
2439773

frofafed & § o1 & Alea T arg § 787 urdt S 82

Radon
A

¥s

Xenon
B

EEIE]

Argon
Cc

SRt

Krypton
D

Edius

Correct Ans : A

Subject : General Science

Q.No: 28 is known as Dolphin Man of India.
2439802
Sifew 11 s ST F ™ @ 1 S &I &
Rajendra singh
A
s g
G.D. Agrawal
B
S8, erraTe

C Chandi Prasad bhatt
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ESIREICRE

Ravindra Kumar Sinha

Y4t $AR Riwgr

Correct Ans : D

Subject : General Science

Q.No: 29 Climate and meteorological phenomena are related to which layer of the atmosphere?
2439846

STearg quT Hew JEd ge argHvsd @ 5 R ¥ Tefdd 87

Thermosphere
A

TE ArgHS

Stratosphere
B

HATY Hed

Exosphere
C

afeHsa

Troposphere
D

&y dsa

Correct Ans : D

Subject : General Science

Q.No: 30 Which instrument is used for measuring electric potential?
2439880

fagga fava Ao & o fvw a1 AT fSrar ST § 2

Photometer
A

Blenfter

Electrometer
B

FAagHIER

Curtometer
C

FerHier

D Voltmeter

GET IT ON

Google Play
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deeHier

Correct Ans : D

Subject : General Science

Q.No: 31 Which one of the following is not a human excretory organ?
2439929

= & ¥ DH-91 U I HT S 3T 6Y 82

Heart
A

T

Kidneys
B

q&p

Skin
C

EL

Liver
D

qpd

Correct Ans : A

Subject : General Science

Q.No: 32 Which of the following statements about Zaid Crops is NOT true?
2783656

e Bl & IR § Rafifed & @ B9 91 w37 99 T8 82

Zaid crops require warm dry weather for major growth period.

A
S Badl ® T0E e safy & e o 3w diaw Bt smaxgwar gt 21
Zaid crops require longer day length for flowering and fruiting.
B
g Bl B B SR A @ & (oY o #t wdt erafy #Y sravuwar gidl g1
Zaid crops are grown in the short duration, mainly from March to June.
C
SRIE Bad $H Safy & IS Wt §, gera: urd | 97 aw |
Zaid crops are entirely dependent on monsoon rains
D

STaE Y BHd T e @ A i w® Rk @

Correct Ans : D

Subject : General Science
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Q.No: 33 Orchids are known for their aerial roots that primarily function in

2783802
3{fh g Y B! gaTS STS! P oY ST STl & off T &Y 7 o1 Bl gl
Water storage
A
Tt BT WSROI
Anchoring the plant to the substrate
B
0 P gege F e
Photosynthesis
Cc
ST HIATOT
Nutrient and water absorption from the air
D

a1 ¥ U¥® dd 3R S BT Iy

Correct Ans : D

Subject : General Science

Q.No: 34 Organisms similar enough to breed and perpetuate are grouped under which of the following category?
2784637

TSI B3 3R €18 38 § GAH &0 J A ofidl o) Fafifed § 9 feg 3ot 3§ w@r mn g2

Genus
A

S

Family
B

£y

Phylum
C

g

Species
D

sfa

Correct Ans : D

Subject : General Science

Q.No: 35 Photosynthesis is a process that converts
2784717
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BT LAY T U ufehar & St ! FUTARA Fal B

Water and oxygen into carbon dioxide and glucose
A

I 3R SRS # 1 ST33TRIgS R qHie &

Glucose and oxygen into carbon dioxide and water
B

PP 3R SHTRISH F B sTgSiTRITS SR U &

Carbon dioxide and water into glucose and oxygen
C

P STATIATZS 3N U B TGP IS 3R SiTeRiie o

Glucose and carbon dioxide into water and oxygen
D

TS 3R BT STFHTFATZS B UL SR SHTRfo &
Correct Ans : C

Subject : General Science

Q.No: 36 Find the odd word out.

2424528
ST Woq BT T BITIT |
Canada
A
HHTST
Argentina
B
fsfafeT
Mexico
C
Afeas
U.S.A.
D
4 . T

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Find the odd number out.
2424547

ST T-AT BT I DI
4
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9
B

9

16
C

16

26
D

26

Correct Ans : D

Subject : General Reasoning

Q.No: 38 1In the given diagram, Rectangle represents Doctor, Rhombus represents Man and Circle represents married.
2426590

XL

How many Doctors are married?

fau U SR #, md Slder HT UG HRal 8, THAgyS SeHt &1 ufaffia &=ar § ok 9 farfed &1 wfaffia & gl
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7
Correct Ans : D

Subject : General Reasoning

Q.No: 39 Which of the following diagram indicates best relation between Tiger, Bird and Snake?
2426738

fFofafed § ¥ oH-1 3w a1y, uall ok 9iu & 9 o9 oy TaY ! guifar 82

@]e

@]e
ol
ol
©

Correct Ans : C

Subject : General Reasoning

Q.No: 40 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427796 one like which the paper will appear when unfolded.
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2]

r
b

A fow 7T vy Spf B U HIS B qHS B WIS 3R HIeT T 7, & TS IR B & fAwedt H F I IW B T 9 B, o {5 A
3R P Y BT B W W 3MHS FH

___‘L.__

1
LY
|

Correct Ans : B

Subject : General Reasoning
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Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427811 ;e like which the paper will appear when unfolded.

J’FH\‘ T T
Y ra
i ! Al
\
\
\-h

3 fou 7T vy 3Bl B U B B hS Bl HIST 3R HIeT T 7, & TS IR B & fAwedt § F I I MBS &7 999 Y, o [ 7
3R P Y BT B W WR 3PH T

P .
Pl - ~
)
I ' v
!
\
\—u.
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Correct Ans : B

Subject : General Reasoning

Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427812 (e |ike which the paper will appear when unfolded.

7 I
1 ! |
I

= fou T Uy P A UE IS F THS I HIST IR BIel T 8, < T IR P P el H J I S AP BT T B, 941 {F A9
3R P Y BT B W WR 3B g0

- o -
[
I

-
L
|

MO\ LN
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Correct Ans : A

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427821 ;e |ike which the paper will appear when unfolded.

¢ A
i A
4 i !
) s b
b - "
- -

I G T Uy 3Pl H TH B & ghs B HIST 3R PICT T 5, § T8 IR AP b fabedl § F IH IR NPl BT 907 Y, ol b Ay
3R BT 7T HHTS BT WA TR APia g1

r A
! \
4 i !
) s ]
b -~ Y
- -
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Correct Ans : A

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427836 (e like which the paper will appear when unfolded.

3 fow 7T vy Bl B U HIS B qHS B WIST 3R HIeT T 7, & TS IR B & fAwedt § F I IW B &7 909 B, o i A
3R P Y HFS B WA W 3MH § |

e = = = o

L
- Ba
Rl |
A
*
o
D:I *
m g,
] ot
a® qT
B
D:I *
o s
) o
a® 47
C ] r-Y
- &
v ]
a =
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L] F-1
& &
kv o
a ki
N =
ﬂb %
& e
a® k<]
D
R =]
" %
“ e
0 k<]

Correct Ans : D

Subject : General Reasoning

Q.No: 45 Select the odd one out.
2427906
ML QN UP YR PG

fawH weg &1 T8 B

ML QN UP YR PG

ML
A

ML

PG
B

PG

QN
C

QN

YR
D

YR

Correct Ans : B

Subject : General Reasoning

Q.No: 46 From the given answer figure, which will complete the pattern in the question figure?
2433189


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Question Figure:

2

Answer Figures:

(A} (B) () (0]

AU U IWR snpfadl F V, HH- Uy 3Fia F I & g e
T AT

(A) (B) () (D)

D

Correct Ans : C

Subject : General Reasoning

Q.No: 47
2433513

Identify the figure that completes the pattern.
? ﬂj
L& %\l

I SAPIA BT U B S Ued & ORI Hat g

GET IT ON
Google Play
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Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434917
222 :248 :: 312 :7?

39 ey &1 997 B o R TR F I USR Y § o et ST Ugelt WRe § Taifdd B

222 :248 ::312:7?

330
A

330

332
B

332

338
C

338

340
D

340

Correct Ans : C

Subject : General Reasoning

Q.No: 49 Identify the classes that best represents the relationship among the given diagram.

2435569
/”F—m}"{f_ﬂ'“\
A
\ _f' | \
\ I|' \\‘v‘_.-"ll 1| ‘//
s e
i\\ /'_r

3 AT By B o fou MU e & d ey BT G 3T ufafRfia a7

R N
i

iy "Q: “"\-\

Irlr r';lr_'}i

™,

|\\\ Il. .'I{ fl\\ ._I,I'I ;r.

& &

| ___,».5___11,..»
L

h
\ [,

L

Mathematics, Arithmetic, Algebra

ford, SO, FerToE

Doctors, Nurses, Hospital

Fiaex, 79, Ruara
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Earth, Metal, Core

g, urg, PR

Professors, Post-graduates, Employed

MNP, AP, FRT
Correct Ans : D

Subject : General Reasoning

Q.No: 50 Identify the diagram that best represents the relationship among the given classes.
2435681

Intangible, Synonyms, tactile

I 3G B UgaH B o fou 7A@ & 9 Gy BT o 33T Ui oar 21

I 4 ?ﬁ‘l
P
7 ,
—~ e X
| s
(L0 )
s o J.
!
“, ,/
A
T
s "
i y,
f o™ ™o\
i FL i
S £ P J
/
, ,/
£ 7™
[ [: l] | 1
"\ T .-'l A
o il
B
P e Y —
[ [: l] | | ]
W, A J
Rl
|'. .II
| |
\ I
C
f .ll
[ 1
1Y F
D — “
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Correct Ans : D

Subject : General Reasoning

Q.No: 51 Six friends sit in a line . Some are facing north and some facing south.

2726854
e Two people sit between Ankit and Abhi and none of them sit at any corner and Ajay and Abhi are immediate neighbour .
e Only Anuj and Arun who sit third to the right of Anuj face South

eAmit and Arun are neighbour and both dose not sit at any corner and Ajay sit at extreme left end.

Who sit third to the right of Abhi ?

BE A U UfRT A 93 € 33 SR B 3R W B ¢ 3R o <fa0 31 3R W R B

« 3 S Siferd iR Sl & Aer 9 § MR I fpalt off BR WR 2 9371 §1 3w, 3ifyy uSkd B
« R 3rget IR 3 S o6 o1l & A ¥ iR M W B, Ifew At ok s o B

o 3fffd, 3RET BT IS § SR I f5elt ot BR W 7 98 ¢ oot Ufdd & 3% I BR W T
Y F T ¥ TR RIF R B 937 82

Amit

Sfera

Ankit

Anuj

Arun

3=
Correct Ans : B

Subject : General Reasoning

Q.No: 52 Study the following information carefully to answer the questions given below
2727084
WIY@QUP7B*H!LO&VM%UB8AKAQ9EO#IC<2T3%$SD

Which of the following is sixteen to the left of fourth from the right?

Fafafea SHeRt &1 ergds iR e 33 T s & Iw ffse?

W1Y@QUP7B*H!ILO&VM%B8AKNQO9EO#IC<2T3$SD
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fofifed & 9§ oF 91 ar 9 919 & S 9§ Aiergal 82

E
A

E

L
B

L

M
C

M
D

K

Correct Ans : C

Subject : General Reasoning

Q.No: 53 Study the following information carefully to answer the questions given below
2727085
WIY@QUP7B*H!LO&VM%DB8AKANQ9EO#IC<2T3%$SD

How many such symbols are there in the above arrangement which is immediately preceded by a number and followed by a
consonant?

Fufafad SFeRt &1 wHgds sregaeR A il T ust & SR fafse?
WI1Y@UP7B*HILO&VM%8AKAQOEO#JC<2T3$SD
3 7S ARy § W fhan udie § e i uga TRem qut R 91 e 872

None
A

IS T

One
B

Lo

Three
Cc

@

Two
D

Gl

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Find the mirror image/jpg of the following figure?
2727097
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Correct Ans : C

Subject : General Reasoning

Q.No: 55 Read all information carefully and answer following question?

2727109
Digits/Symbols- * § %+ # A © 3547216870
Codes-AB CDEFG HIJKLMNOP
(I) If first place is even number and last place is odd number then both places are to be coded by first digit / symbol.
(II) If first place is odd humber and last place is even number then both place codes will be interchanged.
SA+%T
faw e e Y U SR g T U @1 SR S
HFEMFAH-* $ %+ #A©3 547216809
HE-ABCDEFG HIJKLMNOP
(1) TfE Ugen Ue I T B SR sifaw ue faw Tem & @ ugd SR oifow ug & $is T Usd UG BT His o W)
(11) afe Ugar ue faww e § 3R Sifaw ug gw T= §, o Ugd 3R 3ifdd Ue & P! &1 3muyg # RIF YRad- febar smam|
BA+%T
OFDCK
A
OFDCK
KFDCO
B
KFDCO
OIIMN
C
OIIMN
OFDCO
D
OFDCO

Correct Ans : D

Subject : General Reasoning

Q.No: 56 o of the books in a public library are Science boaks. If there are 90,000 books in the library,
2422318 g4 the number of Science books available?

Ueh Hldwuli-ie TEIDTad H 10% TKid 3= b1 G g | afc TRIbTad H 90,000 GKId 5,
Suae fagm THIa! &1 Sen A Bifee

A 8800
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8800
9000

9000
9500

9500
10000

10000
Correct Ans : B

Subject : General Maths

Q.No: 57 If Pand Q are in the ratio 6 : 7, and Q and R in the ratio 8 : 9, then P and R will be in the ratio:
2429466

g P 3R Q FT 3UM 6:7 §, 3R Q 3R R FT 3 8:9 §, @ P 3R R I 3JUTd gNTI:

2:3
A

2:3

16: 21
B

16: 21

14: 23
C

14: 23

3:5
D

3:5

Correct Ans : B

Subject : General Maths

Q.No: 58 A bag contains Rs 900 in the form of 1 rupee, 50 P and 25 P coins in the ratio 11: 8: 12. Find the number of coins of each type.
2429501

THEITH 11: 8: 12 F U H 1 30T, 50 T 3R 25 T & Ryl & U H 900 I9 B AP UHR & e 31 T= 1d DI |
520,320,160

520,320,160
B 180,160,140


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

180,160,140
550,400,600
C
550,400,600
800,360,80
D
800,360,80

Correct Ans : C

Subject : General Maths

Q.No: 59 If the simple interest on a certain sum for 2 years at the rate of 5% per annum is Rs.4000, then what is the sum ?
2432820

Tfe 5% fd 98 B R F 2 I8F F e v AT I R I & Rs. 4000 B, o AR 1 32

46000
A

46000

44000
B

44000

40000
C

40000

48000
D

48000

Correct Ans : C

Subject : General Maths

Q.No: 60 An amount doubles itself in 20 years with simple interest. What is the rate of interest % p.a?
2432889

TS R VIR A & 1Y 20 T8 A U 379 g §Y St §1 =T &% Ul o aram g2

4%
A

4%

6%
B

6%

Cc 2%
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2%

5%

5%
Correct Ans : D

Subject : General Maths

Q.No: 61 9 9
2433009 - &
* Simplify: = Xb o

A T % ><6§

64
25

64
25

32
25

32
25

18
25

18
25
None of the given options
o v fawet & | w5 T8
Correct Ans : A

Subject : General Maths

Q.No: 62 If 20% of x = y, what is the value of y% of 20 in terms of x?
2435206

TfE x BT 20% =y, A x B TS H 20 & y% BT A T 82

A 10% of x
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X BT 10%

5% of x

X BT 5%

4% of x

X BT 4%

20% of x

X BT 20%
Correct Ans : C

Subject : General Maths

Q.No: 63 If a sum of money at simple interest becomes 4 times in 5 years, then in how many years will it become 10 times?
2439134

I IS YFRIRT YR AT W 5 I8 & 4 A7 81 91l §, af fbawt awf & I 10 A1 g Swfi?

10 years
A

10 99

15 years
B

15 99

12 years
C

12 q¢

14 years
D

14 a9

Correct Ans : B

Subject : General Maths

Q.No: 64 A lent Rs 5000 to B for 2 years and Rs 3000 to C for 4 years at the same rate of simple interest. He received total Rs 2200 from
2439159 poth of them as interest. The rate of interest per annum was:

THM YR & GX TR A 3 B &1 2 8 & foY 5000 30T 3R C &1 4 I8 & AT 3000 FUY IYR Y I 41 ¥ IY & & U F $of 2200
IUY U gul wfd o & @t &R ot

5%

5%
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7%
B

7%

8%
Cc

8%

10%
D

10%

Correct Ans : D

Subject : General Maths

Q.No: 65 A person sells a table at a 8% profit. If he had bought the table at 5% less cost and sold for Rs.90 more he would have gained
2730455 (9, The cost price of table is.

TF Afad T B B 8% AH W ITdl § ARG I8 A DI 5% HH G W JGH 90 I e T W Iadl § dl 3 20% HT a1 gial, Tl
B AT Hed J1d B

Rs.2000

Rs.2000

Rs.1500

Rs.1500
Rs.1600

Rs.1600

Rs.1250

Rs.1250
Correct Ans : B

Subject : General Maths

Q.No: 66 In the given figure, CD is tangent to a circle with centre O. Angle QPR measures 120 degree and chords PR and PQ are equal.
2781124 Fing the measure of angle DRP.
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feu Mg epfa H, CD % O F WY g9 BT W W@ §| B QPR HT TH 120 &I 3R Siiar PR 3R PQ SRTER §| HIUT DRP &1 A F1d B3|

150
A

150

450
B

450

30°
C

300

400
D

40°

Correct Ans : C

Subject : General Maths

(22.7'\1801:26276 If the wolume of the sphere is 38808 m?, then find the total surface area of the sphere.

ITE FTeT &1 AT 38808 FF § aF 3iTer & FFI0T I56 FHT &6 AT &y

5372 m?
A
5372 #Hi?
5544 m?
B
5544 12
5648 m?
C

5648 H2
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Correct Ans : B

Subject : General Maths

Q.No: 68 Find the square of the number which when multiplied by 17 increases by 304.
2781240

I TReAT BT [1d DX O 17 F T B IR I8 304 9 Sl 3

256
A

256

729
B

729

361
C

361

625
D

625

Correct Ans : C

Subject : General Maths

2'7'\‘8(226991 The zeroes of y*-3y —40 are:

y>—3y —40 % I (zeroes) p:

(5,-4)
A

(5,-4)

(-5,8)
B

(-5,8)

(8,-5)
C

(8,-5)

D ('81'8)

GET IT ON

Google Play
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(-8,-8)
Correct Ans : B

Subject : General Maths

2'7'\:];(237700 What is the degree of the polynomial 8v647?

ague 8V 64 & = F 22

0

o=

o=

2
Correct Ans : A

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426646

22 +18x3-12+2 =49

fou 7T iRl &Y et 9 F T b &) TReal B Uy H el W ARy
22+18x3-12+2=49

18 and 3

18 3R 3
18 and 12

18 3R 12

C 22 and 3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

223k 3

2and 3

233

Correct Ans : B
Subject : Mental Ability

Q.No: 72 Whijch ofthe following cubes can be created by folding the given figure?

2429651

X

TI'|®

+*~

& TS HFHT FT Al Wed A F FiF G 99 AT T Fhal 67

(=

X

I|®

+

=

GET IT ON
Google Play
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,

,

Correct Ans : D

Subject : Mental Ability

Q.No: 73 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the
2430233 gtatements to be true even if they seem to be at variance from commonly known facts. You are to decide which of the given
conclusions, if any, follow from the given statements. Indicate your answer.

Statements: All the educated persons find time for rest. Sneha, inspite of her very busy schedule, finds time for rest.
Conclusions:
I. Sneha is an organised person.

II. Sneha is a talented person.

fofafad vy & & $UF SR I 91 & By (1) 3R (11) foT T §1 SMueh! Hu=t &) I AT 8, W € 3 WHERIa: 1d a9 g vdfta g
gl MU T8 T H1 8 6 fow e et & & & @1, afe #9188, 3T T FHo=l &1 ureH &R g1 30 IR BT I B

FyT: 9t Riféra afda smm & fow o fAerad 1 BeT U 9gd okd HRiHH & SIau[g 3IRM & fae w5 feradt 31
e

1. We1 T Wfdd <Al g

1. Ve T iUl afd g

Only conclusion I follows

Fad Frepd I IR BT §

B Only conclusion II follows
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Fad Frspyd IT SRR BT &

Either conclusion I or II follows
C

a7 Y e 1 a1 1T SgERT HaT @

Both conclusion I and II follow
D

s 1 3R 11 Y SrgERr FRa &
Correct Ans : D

Subject : Mental Ability

Q.No: 74 1In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the
2430242 gtatements to be true even if they seem to be at variance from commonly known facts. You are to decide which of the given
conclusions, if any, follow from the given statements. Indicate your answer.

Statements: From the next year, students will have the option of dropping Biology and Physics for their college leaving
certificate examination.

Conclusions:
I. The Students who are weak in Biology and Physics will be admitted.

I1. Earlier students did not have the choice of continuing their education without taking Biology and Physics.

fofafad vy & & $UF SR I 91 &t FIsHY (1) SR (11) AT T 1 MU Hu=i & I AT 8, W 8 3 WHERIa: J1d a3 g v g
Bl HTUD! T8 T H1 § & fau U et & & sH-w1, afe IS 8, AU T Hu1 &1 uTa FHRadl 81 U= IR BT 90 Be:

HYF: 3T TN I, BE B U DIA SIS DI THTS TIeT & e Sitg fage iR difde! siea &1 fawe gl
forep:

1. 519 fag SIR it ¥ SHeR SHE! $1 Haw fear s

I1. U8 B & O S fagm ofR fifae fare famm st Rien SRt 3 &1 faded =& ol

Only conclusion I follows

A
Fad fspd I IR0 Har &
Only conclusion II follows
B
Fad P 1T IR0 BT &
Either conclusion I or II follows
C
7 Y e 1 a1 1T SgERT HaT @
Both conclusion I and II follow
D

I 3R e 11 AT S RRuT FHed &

Correct Ans : D
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Subject : Mental Ability

(224'\1306:57356 If “$° means “plus’, “# means ‘minus’, @ means ‘multiplied by” and “*" means “divided by, then what
isthe value of 16 54 (@ 5% 72 * 87
A s H HY v e F AT 2@ F HY qm HR 0w oI Tamfaa dar 16s4@s#72*
8 &1 A FHT &2
29
A
29
27
B
27
25
C
25
36
D
36

Correct Ans : B
Subject : Mental Ability

Q.No: 76 It was Wednesday on 6 March 1949. What was the day of week on 7 March 19527

2437414
6 AT 1949 HI FUIR YT 7 A 1952 Pl TWTg BT S 4T & uT?
Sunday
A
Afaar
Monday
B
IR
Tuesday
C
AR
Wednesday
D
FYAR

Correct Ans : B

Subject : Mental Ability
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Q.No: 77 If the day after tomorrow is Tuesday what day will two days after the day after tomorrow be?
2437435

Tfe T} &1 feT HelaR § O WAl & < feq o1g &= 1 fa= gme

Monday
A

AR

Wednesday
B

FYIR

Saturday
Cc

RUEEIN

Thursday
D

AR

Correct Ans : D

Subject : Mental Ability

Q.No: 78 How many smaller pieces are obtained by making 8 cuts in X plane, 9 cuts in Y plane and 11 cuts in Z plane on the same cube?
2438458

WHFRXTAAS T, Y AAH 9 Fe 3R Z a0 H 11 Fc T ¥ fobaa B Ths U 8 &2

1200
A

1200

1000
B

1000

1080
C

1080

200
D

200

Correct Ans : C

Subject : Mental Ability

Q.No: 79 Complete the following series
2438778

12, 35, 106, 317, 952, ?
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Fofafea o &
12, 35, 106, 317, 952, ?
2840

2840
2855

2855
1851

1851
1849

1849
Correct Ans : B

Subject : Mental Ability

Q.No: 80 Pointing to a man in a photograph, a woman said, “His brother’s father is the only son of my grandfather.” How is the woman
2439345 (¢|ated to the man in the photograph?

TP BICHIG H T G3Y $1 3R IR 3 g, TP Higall 7 el
"ITF WIS & T R <61 S 3B GF § 17 A BIeHE ard goy ¥ g TeR efid 72

Mother
A

-

Aunt
B

Tt

Sister
C

B

Daughter
D

Lol

Correct Ans : C

Subject : Mental Ability

Q.No: 81 A mother is five times older than her daughter. After 5 years, she would be 3 times older than her daughter. Find the mother’s
2442250 present age.
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U A S0 G ¥ g F Ut 1 9T B 5 Y SIRId SBT3 U T BT g FY 3 AT 8 S| A B adHH 341G S|

20 years
A

20 a¥

22 years
B

22 af

25 years
C

25 qf

29 years
D

29 T

Correct Ans : C

Subject : Mental Ability

Q.No: 82 Which one word can be formed from the following letters?
2442849

b actudro

fFofafed 2Rl ¥ $H-91 Uh Ysg ST S Tl 872

b actudro

stagnation

A
stagnation
abductor
B
abductor
absorbion
C
absorbion
amplification
D

amplification
Correct Ans : B

Subject : Mental Ability

Q.No: 83 Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if
2727632 they seem to be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given
statement.

Statement:

Atleast some ministers are doctor.
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Some doctors are policemen.
No policemen are driver.
Conclusions:

(I) Some doctors are driver.

(II) Some doctors are ministers.

Fafafaa gy & & HuF feT TU 8 5P o1 &) Feps 19 11 3T 7T § 31Ut 37 Y= & I AT ], Hol €t 3 Jdvid aa ¥ i ueid 81 of
feu T frepst & ¥ o W1 ey 3T 70 By &1 difbe U F SR BT B

FY:
FY J HH $ Tl SlaeR B
$T aey YferaeTf T
IS YRl SRR T B
e

(I) T SHRR FER ¢
(11) $3 Sigex 7t Bl

Only I follow

A
Faa ey 1 JFERor Far @
Only II follow

B
Faq ey 11 SFERor Far @
Both I and II follows

Cc
311 frsepd T aUT IT SRR B &
Neither I nor 1I follows

D

T o forepd 1 7 € fAepy 11 R Hear @

Correct Ans : B

Subject : Mental Ability

Q.No: 84 A started from point P and went 2 km East; he turned right and covered 3 km. At the end of 3km, his cycle got punctured. He
2782065 |eft it with the mechanic and turned right and went 1 km. Then he turned left and went 1 km and finally he turned right and
after walking 1 km, reached his destination.

How far is A’s destination from P (shortest distance in km)?

A fig P 3 = FRar § SR 2 fob. 1. od & e ®; R 9 o ok gaar § ok 3 5. &t g Ju avar 31 3 5.t & o B, Iua! wsfea uR
B Sl 81 98 Isfhd & AFTHE F U BIS a1 § 3R I 3R gedT § 3R 1 5.1 Srar 81 R 95 918 iR ggdr 8 iR 1 f. . S § au
3fdd: 98 a3 3R T ¢ 3R 1 [, 9 & 918, A Tidey 9@ Ug=di g1 P ¥ A &1 Tasd fbal @R 8 (.1, & 9@ 7 gft)?

A a2 1 a2

V32 4+ 22
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V3% +22
V4% + 32
V4?2 + 37
V4% +22

4

1/ 2+22

H

H

Correct Ans : D

Subject : Mental Ability

Q.No: 85 A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.
2782069

41228 527

T s & TS ¥ R U ue gw 21 A Ty et # el 9 S e B @ S99
4122852 ?
82

80
86

86
Correct Ans : B

Subject : Mental Ability

Q.No: 86 T 2 g2 + qR
5427246 Find out the LCM of (p? - ¢¥) and (p + g
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- @) 3’ + QPHFTLCM AT F|

(p-a)(ptaf
A
P-2Pp+aqf
(p-q)
B
(p-q)
(p+q)
C
(p+q)
(p-q9)(p+q)
D
(p-9)(p+aq)

Correct Ans : A

Subject : General Aptitude

Q.No: 87 Nanda has 16 packets of cakes and 20 packets of biscuits. If he wants to distribute them among children, what is the greatest
2427264 pymber of children he need to distribute same number of cakes and biscuits to each children?

S F U &P F 16 Ude 3R fogpe F 20 Ude g1 Al a8 I< Sl § dicl I16dl 8, O 39 TS g &I J0 WA H &b 3R fowge faafa
FHA & fore forat 9t e A st @) AR geire

8
A

8

2
B

2

4
C

4

6
D

6

Correct Ans : C

Subject : General Aptitude

Q.No: 88 If a boat covers a distance of 78 km in 5 hours. Calculate the speed of boat in m/s.
2427285

Ifg ue 719 5 He # 78 fFh 3 g au axclt 31 f/ & 19 3t i) 3} Iomn %)

A 4.3 m/s
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4.3 Hi/3

5.7 m/s

5.7 #i/9

9.1 m/s

9.1 W/¥
12.6 m/s

12.6 #i/3 #/3

Correct Ans : A

Subject : General Aptitude

Q.No: 89 A man runs from J to K at the speed of 35 km/hr and returns back to J at the speed of 65 km/hr. Calculate his average speed
2427343 fqr the entire journey.

U AfFT I ¥ K d® 35 fbeil/er @ 1ia I <rsar & 9k 65 fbH/ger ot 1fa I 9109 J W diedr 81 T a1 & e 39! sigd 71fa 31 s

45.5 km/hr
A

45.5 fedt/der

50.5 km/hr
B

50.5 ot/ ger

41.89 km/hr
C

41.89 T/ der

45.65 km/hr
D

45,65 et/ ger
Correct Ans : A

Subject : General Aptitude

Q.No: 90 A train travelled from station S to T in 15 hours and return back from station T to S in 10 hours. Calculate the ratio of the trains
2427378 speed while travelling from S to T to that from T to S.

THIF 15 G A RIS AT db bl I o7 fohar 3R 10 9 H WIH T F S 9109 die SIdT g
SAT TH B! AT FXA T ¢l i 71 & U B TT0FT B

2:3
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11:8
B

11:8

9:11
C

9:11

6:7
D

6:7

Correct Ans : A

Subject : General Aptitude

Q.No: 91 Find the smallest fraction of the following fractions?
2432025

Frafefad e & 9 9o BIE e 119 HifoY

31
17

31
17

24
19

24
19

42
27

42
27

31
29

31
29

Correct Ans : D

Subject : General Aptitude

Q.No: 92 If the six digit number 4x573y is divisible by 72 then the value of (x + y) is:
2436207


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

Tfe T 3BT B GBI 4x573y, T 72 A AUT R, @ (x + y) FTHAAB:

9
A

9

4
B

4

8
C

8

6
D

6

Correct Ans : C

Subject : General Aptitude

Q.No: 93 What value would come in place of the question mark (?) in the following equation?
2437013

85 % of 9200 - 96 % of 4100 + 26 % of 450 = ?

fFufeiad gfieo & usars e (?) & WM R &1 719 3

9200 T 85 % — 4100 D196 % + 450 N1 26 % = ?

4001
A

4001

3894
B

3894

3884
Cc

3884

4000
D

4000

Correct Ans : A

Subject : General Aptitude

Q.No: 94 Raju can do a piece of work in 54days, with the help of his brother. He can do it in 18days. In what time can the brother do it
2438241 ,gne?

TS 3 HTE 1 Teral § et 1f 3 54 fal & IR IHa1 31 983U 18 G # R THa 71 WIS U fore T H ofbal R Uahd 62
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24 days
A

24 fe

26 days
B

26 fa7

28 days
Cc

28 fa7

27 days
D

27 faa

Correct Ans : D

Subject : General Aptitude

Q.No: 95 8 men or 12 women or 18 boys can finish work in 30 days, and then the number of days taken by 4 men, 6 women and 2 boys
2438326 1 finish the work is?

8YTY IT 12 TRYATE T 18 ASH bt B HI 30 foAl T THI IR Thdl §, A 1T I 4 Y, 6 ARG 3R 2 dedh T F fobant &= & Twmea
T2
30

30
20

20

27

27

10

10
Correct Ans : C

Subject : General Aptitude

Q.No: 96 The number of arrangements which can be made by using all the letters of the word ‘LAUGH’, If the vowels are adjacent is:
2444389

e \LAUGH’ & gt quif &1 IuaiT &, 518 T 94t Tieal o1 T, afe 9t wR ue 9y 8, 8
A 10
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10
24

24
48

48
120

120
Correct Ans : C

Subject : General Aptitude

Q.No: 97  If the difference between Compound interest and simple interest at the rate of 5%p.a.
2444505 o1 3 yearsis Rs. 122. Thenthe sum (in Rs.) is:

afe i ad ®r 5% £ =0 s i =T e araTor sgTer & e T 122 =g G
ar Trfér (woat ) e fifg)

12500

12500
16000

16000
18000

18000
19000

19000
Correct Ans : B

Subject : General Aptitude

Q.No: 98 DIRECTIONS: What should come in place of the question mark (?) in the following question?
2444639
7, 16, 141, 190, 919, ?

o Fufafad uy § uyare e (?) & ™M R |1 37T T1gT?
7, 16, 141, 190, 919, ?

A 1029
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1029
1019

1019
1020

1020
1040

1040
Correct Ans : D

Subject : General Aptitude

Q.No: 99 The total surface area of a cube is 253.5 sq.cm. Find its side (in cm).
2730260

TP I BT Gl UF &% 253.5 I IH g1 ITBT Yo (I, T) F1d Bl

7.5
A

7.5

5.5
B

5.5

6.5
C

6.5

8.5
D

8.5

Correct Ans : C

Subject : General Aptitude

Q.No: 100 A motor boat can travel at a speed of 12 km/h in still water. The river is flowing at the speed of 4 km/h. A motor boat goes
2779446 upstream to a place “P” and returns to the starting point in total 12 hours, then the distance between the two places is:

T TreR die Xid urt § 12 frfi/der at 1fa @ 9a wewdt g1 A 4 fedl/ae 3 TwIR 9 98 W 81 T Hiex 19 4R & Uiddhd R P dd
TR $d 12 4 T URMNS g W e ot &, o SF el & o 3t g @

48 km

48 fet

B 96 km
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96 it

64 km
C

64 fotit

36 km
D

36 Tt

Correct Ans : C

Subject : General Aptitude
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